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QUESTION 1

OSFP is stuck in the ExStart state. 

What is a common cause of this problem? 

A. The DR priority is configured incorrectly. 

B. MTUs do not match. 

C. IP addresses are not configured correctly. 

D. Jumbo frames are not enabled. 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, you have EBGP peerings with both ISP1 and ISP2. You are receiving the 172.25.12.0/24,
172.25.13.0/24, 172.25.14.0/24, and 172.25.15.0/24 routes through both neighbors. You must ensure that traffic to
these prefixes are load balanced through both service providers. You have configured a load-balancing policy and have
applied it to the forwarding table, but the prefixes are not being load balanced. 
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What is required to accomplish this task? 

A. The multihop feature should be enabled between both neighbors. 

B. The multipath multiple-as feature should be used between both neighbors. 

C. The as-override feature should be used between both neighbors. 

D. The include-mp-next-hop feature should be used between both neighbors. 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 

Where is the policy shown in the exhibit enforced? 

A. Between the RIB-LOCAL and the RIB-OUT tables 

B. Between the RIB-OUT table and the BGP peer 

C. Between the RIB-IN and the RIB-LOCAL tables 
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D. Between the BGP peer and the RIB-In table 

Correct Answer: C 

 

QUESTION 4

Which type of BGP is used to peer with a different autonomous system? 

A. external 

B. classless 

C. dynamic 

D. static 

Correct Answer: A 

 

QUESTION 5

You want to deploy MSTP with multiple regions. Each region should have a unique root bridge to accommodate a set of
VLANs. Which three configuration elements must watch on switches participating in this deployment scenario? (Choose
three.) 

A. MSTI toVLAN mapping 

B. revision level 

C. CST BPDU parameters 

D. configuration name 

E. bridge priority 

Correct Answer: ABD 
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